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QUESTION: 139
Compared with SNMPv1, SNMPv2c has made the improvements including ().

A. Supporting more operations, such as getbulk_request and inform_request
B. Supporting more data types, such as counter64

C. Providing more error processing codes

D. The community name is transmitted in cryptograph

Answer: A, B, C

QUESTION: 140
The VPN network security design include ().

A. Tunnel and encryption

B. Data authentication

C. User identification & device authentication
D. Intrusion detection & network access control
E. Routing protocol authentication

Answer: A, B,C,D

QUESTION: 141
Which of the following descriptions about BGP route importing is/are correct? ()

A. The BGP route can be imported by using the network command.
B. The BGP route can be imported from other routing protocols.

C. BGP can import the routes in the local routing table only.

D. BGP cannot import the routes of direct connected networks.

Answer: A, B, C



QUESTION: 142
The most popular IGP at present is ().

A.RIP
B. BGP
C. IS-IS
D. OSPF

Answer: D

QUESTION: 143
The 6PE technology can be used to interconnect IPv4 and IPv6 networks.

A. True
B. False

Answer: B

QUESTION: 144

In the IPv6 NAT-PT technology, to assign an IPv6 address pool on the NAT-PT server to
the IPv4 hosts that want to access IPv6 network, the prefix length of addresses in the pool
should be ().

A. 128 bits
B. 64 bits
C. 96 bits
D. 32 bits

Answer: C

QUESTION: 145
The Next-hop attribute of BGP can be changed between EBGP peers.



A. True
B. False

Answer: A

QUESTION: 146
The PPP deployment principles include ().

A. PPP can be deployed in a point-to-multipoint network

B. PPP can be applied on the dialing line

C. PPP can be deployed in the LAN

D. PPP can be deployed when the authentication between communication parties is
needed.

Answer: B, D

QUESTION: 147
Customer network demands usually contain ().

A. Physical topology

B. Network protocol

C. Security requirement
D. Network equipment
E. WAN connection

Answer: A, B,C,D, E

QUESTION: 148
Which VLAN division mode cannot coexist with others? ()

A. Port-based VLAN division

B. Protocol-based VLAN division

C. IP subnet-based VLAN division

D. MAC address-based VLAN division



Answer: D

QUESTION: 149
The service provider equipments used in WAN connection is invisible to the network
designer.

A. True
B. False

Answer: A

QUESTION: 150

The position and the direction on the interface where ASPF and packet filtering are
employed concurrently should be focused on. Usually, we configure the deny any packet
filtering for the inbound packets and enable ASPF in the outbound direction. The relevant
ports shall be opened in the packet filtering firewall when the internal server offers
service to external.

A. True
B. False

Answer: A
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